Yitzhaki’'s Weights

-0.1

Yitzhaki’s Weights for X Normal

dlg(xYdx

05 L e W(X); W =0, o7 =2, GX,\/Gi =0.1
e W(X); W =0, o7 =5, GX,\/Gi =0.1
04 - e W(X); W =0, o? =10, GX,Y/Gi =0.1
e W(X); W =0, o° =20, GX’Y/Gi =0.1

03 [

0.1

-8 -6 4 -2 90 2 4 6 8
X, g(X =0.1%, X~ (  w,06°);

E(Y|X =)= g(z) = Saded = [0 g (Bw(t)dw

0. @)

w(t) = VG+(X)E(X|X >t)-Pr(X >t)

g(x)=01-x, X~N(p,o%).
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Yitzhaki’'s Weights

-0.1

Yitzhaki’s Weights for X Normal

d[é(X)]/dX | | | | r

- 2 _ 2 _

05 | e W(X); W =0, 0 =2, GX’\/GX =0.12718
. _ 2 _ 2

e W(X); W =0, 0 =5, GX,\/GX =0.22182

2 2
04 - e W(X); W =0, 0“ =10, GX,Y/GX =1.5748

——w(¥; u=0, 6°=20, o, /o5 =70.3142

8 © 4 2 =30 2 4 & 8
x,9(¥) = 0.1%+ 0.0T*ep(X, X~ ( w,0):
Cov(X,)Y %)
E(Y]X =) = g(z) = oyt = [°5, 9 Ww(t)da
w(t) = yom B (XX > 1) - Pr(X > 1)

g(x) =0.1-x+0.01-exp(x), X ~N(p,,o%).
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Yitzhaki’'s Weights

-0.1

Yitzhaki’s Weights for X Normal

dlg(¥)dx

- 2 _ 2 _
05 L e W(X); W =0, 0 =2, GX’\/GX =0.027183

—_— 2 _ 2 _

e \\(X); U =0, 0° =5, GX,\/GX =0.12182
2 2

04 - e W(X); W =0, 0“ =10, GX,Y/GX =1.4748

—w(X); u=0, 6°=20, o, Jo° =70.2142
X X

8 6 4 2 40 2 4 6 8
X,9(¥) = 001"exp(¥, X~ ( 1,0°);
Cov(X,)Y %)
E(Y|X =)= g(z) = Saded = [0 g (Bw(t)dw
w(t) = VCL+(X)E(X|X >t)-Pr(X >t)

g(X) = 0.01- eXp(X)7 ) X ~ N(l"'m? J?X)
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Yitzhaki’'s Weights

-0.1

Yitzhaki’s Weights for X Normal

- 2 _ 2 _

05 | —\\(X); U =2, G =2, GX’\/GX =0.30086
. _ 2 _ 2

e \(X); W =2, 6" =5, GX,\/GX =1.0002

2 2
04 - c—W(X); W =2, c" =10, GX,Y/GX =10.9975

e W(X); =2, G2 =20, ny\/ci =518.9165

8 © 4 2 g0 2 4 & 8
x,9(¥) = 0.1%+ 0.0T*ep(X, X~ ( w,0):
Cov(X,)Y %)
E(Y]X =) = g(z) = oyt = [°5, 9 Ww(t)da
w(t) = yom B (XX > 1) - Pr(X > 1)

g(x) =0.1-x+0.01-exp(x),, X ~N(u,,o%).
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Yitzhaki’'s Weights

-0.1

Yitzhaki’s Weights for X Normal

o 2 _ 2 _
05 | —\(X); W=2, 0 =2, GX’\/GX =0.20086
. _ 2 _ 2
—\(X); U =2, 0 =5, GX,\/GX =0.90017

2 2
04 - c—W(X); W =2, c" =10, GX,Y/GX =10.8975

e W(X); =2, G2 =20, ny\/ci =518.8165

8 6 4 2 o 2 4 & 8
x,9(¥) = 0.1%+ 0.0T*ep(X, X~ ( w,0):
Cov(X,)Y %)
E(Y]X =) = g(z) = oyt = [°5, 9 Ww(t)da
w(t) = yom B (XX > 1) - Pr(X > 1)

g(X) = 0.01- eXp(X)7 ) X ~ N(l"'m? J?X)
&1



Yitzhaki’s Weights

05

04 r

03

02 r

0.1

-0.1

Yitzhaki’s Weights for X Normal

= d[g(¥}ax

e W(X); U =0,
—WX); u=0,
e W(X); U =0,
e W(X); =0,

2 2

o~ =2, GX,\/GX =0.1
2 2

o° =5, GX,\/GX =0.1
2 2

o =10, GX’Y/GX =0.1

2 2
o =20, GX,Y/GX =0.1

-4

2 90 2 4 6 8
X, 900 = 0.1%, X~ w,o);

E(Y|X =1) = g(x) = oy = [% ¢ (w(t)da

w(t)

L ~E(X|X >1t)-Pr(X >t)

~ Var(X)

g(x)=0.1-x, X~N(p_,0%).
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Yitzhaki’s Weights

-0.1

Yitzhaki’s Weights for X Normal

=—d[g(x¥}dx

e \W(X); U =0, o° =2, GX,\/G)Z( =0.1
e W(X); U =0, 6% =5, GX,\/G)Z( =0.1
04 | —=WX; u=0, o2 =10, GX’Y/G)Z( =0.1
—w(X); u=0, 6°=20, GX,¢G§ =0.1

05

-8 -6 -4 -2 30 2 4 6 8
X, g(¥) = 0.1"x+ 0.01*x 2, X~ ( u,oz);

E(Y|X =1)=g(x) = T = [% g (w(t)da

w(t) = WE(X\X >t)-Pr(X >t)

g(x)=0.1-x+0.01-x°, X~ N(u,o%).
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Yitzhaki’s Weights

Yitzhaki’s Weights for X Normal

=—d[g(x}ax

. 2 _ 2 _
05 | —W(X); uw=0, 6 =2, GX,\/GX =0

A 2 _ 2 _
—V\(X)’ M_O, (o) _5’ GX,VGX _0
2 2
A 2 _ 2 _
—V\(X)’ M_O, (0] _20, GX,VGX _O

o1 s 2 2 40 > 4 6 8
X, g(x¥ =0.01"x 2,X~(u,c52);
Cov(X\)Y 00
EY|X=2)=g9(zx) = % = f_oo g (t)w(t)dx
w(t) = #(X)E(X\X >t)-Pr(X >t)

g(x) =0.01-x°, X ~N(u_,o%).
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Yitzhaki’s Weights

Yitzhaki’s Weights for X Normal

05 —W(X), M=2

—W(X); U =2

=—d[g(x}cx

2 2
, 0°=20, o, Jo} =014

2 2
’ o _2’ GX,VGX —014
2 2
0?5, o, Jo2 =014
2 _ 2
o _10’ GX,Y/GX —014

-0.1 -8‘ '6‘ -4‘ -2‘ 50 é 21 é 8‘
X,9(%) = 0.1%+ 001" 2, X~ (m,0%);
Cov(X,Y
E(Y|X =) = g(x) = Gz = 2o, ¢ (Dw(t)da

w(t)zﬁmE(X‘X>t)'Pr(X>t)

g(x)=0.1-

X+O‘01'X25 XNN(”x7U%()
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Yitzhaki’s Weights

05

04 -

Yitzhaki’s Weights for X Normal

e g (X) VAX

— (X =2, G°=2, oX,¢c)2< ~0.04
—W(X); L=2, 6° =5, cx,\/oi ~0.04
—W(X); W =2, o° =10, GX’Y/G)Z( =0.04
—W(X): L =2, G2 =20, cx,¢o§ ~0.04

-8 -6 -4 -2 60 2 4 6 8
* 2 2y,
X,9(¥ = 0.01"x <, X~ ( u,0%);

E(Y|X =)= g(z) = Gats) = [ g (tw(t)dz

w(t) = #(X)E(X\X >t)-Pr(X >t)

g(x) =0.01-x°, X ~N(u_,o%).
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Yitzhaki’s Weights

-0.1

Yitzhaki’s Weights for X Normal

e d[g (¥ VX

05 | e— W(X); U =0, 02 =2, GX,\/Gi =0.1
e W(X); U =0, 02 =5, GX,\/Gi =0.1
04 | =W; n=0, o2 =10, oX,Y/of( =0.1
—(X); L =0, 6°=20, cx’\/cf( =0.1

03
02

0.1

X, g(X) =0.1%, X~ ( p,0°);

E(Y|X =) = g(x) = Fuzy = J2o 0/ (Dw(t)da
w(t) = #(X)E (X|X >t)-Pr(X >t
g(x)=0.1-x, X~N(u_,o%).
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Yitzhaki’s Weights

_01 | | | | | | | | |

Yitzhaki’s Weights for X Normal

= = =dg(xJax

. _ 2 _ 2 _
05 L —W(X); u=0, 6" =2, GX,\/GX =0.1

— 2 _ 2 _
2 2
. _ 2 _ 2
e W(X); U =0, 0~ =20, GX’Y/GX =0.1

-8 -6 -4 -2 0 2 4 6 8
X, 9(%) = 0.1°%+ 0.1%cos(X), X~ ( ®,0°);

E(Y|X =12) = g(x) = ol = [°2 g w(t)dw

w(t) = WE(}QX >t)-Pr(X >t)
g(x)=0.1-x+0.1-cos(x), X~ N(u,,o%).
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Yitzhaki’s Weights

Yitzhaki’s Weights for X Normal

= = =dg(x}dx

e W(X); W =0, o° =2, GX’\/Gi =0
s W(X); W =0, o2 =5, GX’Y/Gi =0
e W(X); W =0, o° =10, GX,\/Gi =0
—w(Y); n=0, 6°=20, cx’\/cf( -0

0.5

0.4

X, 9 = 0.1%c0s(X), X~ ( 1,6°);

E(Y|X =1) = g(z) = G5t = [70, g (Dw(t)da
w(t) = WE(}QX >t)-Pr(X >t)
g(x) =0.1-cos(x), X~ N(p,, 0%).
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Yitzhaki’s Weights

_01 | | | | | | | | |

Yitzhaki’s Weights for X Normal

= = =dg(xy)yax

i _ 2 _ 2
05 | —\\(X); W=2, O =2, GX,\/GX =0.066549

——w; p=2, 0°=5, o, /o5 =0.092536

2 2
04 - e—\W(X); U =2, 0~ =10, GX,\/GX =0.099387
S 2 _ 2
—\(X); W =2, 0~ =20, GX’\/GX =0.0999%4

-8 -6 -4 -2 0 2 4 6 8
X, 9(%) = 0.1°%+ 0.1%cos(X), X~ ( ®,0°);

E(Y|X =12) = g(x) = ol = [°2 g w(t)dw

w(t) = WE(}QX >t)-Pr(X >t)
g(x)=0.1-x+0.1-cos(x), X~ N(u,,o%).
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Yitzhaki’s Weights

Yitzhaki’s Weights for X Normal

= = = d[g(XVadx
. —_ 2 j— 2 —_—
05 | —\\(X); W=2, O =2, GX,\/GX— 0.033451 |
— 2 2 _
e—\\(X); U =2, 0 =5, GX,\/GX— 0.007464
2 2
04 - e— W(X); U =2, 0" =10, GX,\/GX =-0.00061268 1
—_—W%); n=2, 6°=20, ox’\/cf( —-4.1471e-006
/
A I' \ \ /
_0.1 | | \& ’\ | | \—’ | | \.h’
-8 -6 -4 -2 0 2 4 6 8

X, 9(%) = 0.1°%+ 0.1%cos(X), X~ ( ®,0°);

Cov(X, 00
E(Y|X =2)=g(x) = Fagey = %0 d Ow(t)dz

w(t) = WE(}QX >t)-Pr(X >t)
g(x) =0.1-cos(x), X~ N(p,,0%).
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Yitzhaki’s Weights for X ~ U|[0, 1]

2 T T
- = = dg(X}dx b=05,c =0
181 ——w(®;X~U(01), o, Jo>=05 ]
16 F
14 -
242t
k=)
(]
E 08 |
N
> 06}
04
02 |
0
0 02 0.4 06 0.8 1
X, 9() =bx+cx 2 X~U(01).
. . Cov(X,)Y)  proo
E<Y|X = ﬁU) — g(ZC) = VT()() — f_oog (t)ﬂ)(t)dﬂ?

’(U(t): WE(X‘X>IS)PI'(X>IS)

g(x)=05-x, X~UJ0,1].
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Yitzhaki’s Weights

E

—
T

Yitzhaki’s Weights for X ~ U|[0, 1]

= = =dg(¥)dx b=05,c=05
——w); X~U(01), o, Y/cf( =1

0 02 0.4 06 0.8 1
X, 9() =bx+cx 2 X~U(01).

(YIX =12) = g(x) = T = [%2 g/ (w(t)da

’(U(t): WE(X‘X>IS)PI'(X>IS)

g(x)=05-x+05-x°, X~UJ0,1].
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Yitzhaki’s Weights for X ~ U|[0, 1]

2 T T
= = =dg(¥Jdx b=0, c=05

181 ——w(®;X~U(01), o, Jo>=05 ]

Yitzhaki’s Weights

0 02 0.4 06 0.8 1
X, 9() =bx+cx 2 X~U(01).

E(Y]X = 1) = g(z) = Fagad = [72, g (Hw(t)dz

’(U(t): WE(X‘X>IS)PI'(X>IS)
g(x)=05-x*, X~UJ0,1].
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Yitzhaki’s Weights

E(Y|X:x):g(:c):>vT(X):

Yitzhaki’s Weights for X ~ U|[0, 1]

5 T T
= == = dg(X))dx b=05,c=05
al ——w¥;X~U01), o, Y/oi 05
P AN
P4 \
3 / \\
// \\
’
2 , \
v \
/ \
1r / \‘
/
b /
0
\ J
\
’
\
1 /
\ /
\\ ,
2 [N ’I
\\-— "
'3 ’ 1 | | 1 ]
0 0.2 0.4 0.6 0.8 1

X,g(¥) =b*x+c*cos(2 m*x), X~ U(0,1).

— 00

UJ(t)ZWE(X‘X>t)PI'(X>t)
g(x)=05-x+0.5-cos(27-x), X~UI0,1].
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Yitzhaki’s Weights

Yitzhaki’s Weights for X ~ U|[0, 1]

= = =dg(¥}Ydx b=0,c=05
i ——w); X~U(01), o, Y/cf( =0 _
L /‘ '\\ _
V4 \
’ \
\
i ,/ \ |
, \
/ \
o Y L
/ \
/ \
/
\ /
\ /
AN ’I .
\ ,
\ /
- \ , -
N )/
- C \“ ‘,, | | | I
0 02 0.4 06 0.8 1

X,g(¥) =b*x+c*cos(2 m*x), X~ U(0,1).

E(YIX =) = g(2) = Fazy = [2o o (Du(t)da

’UJ(t) = #(X-)E(X‘X >t) PI'(X >t)
g(x) =0.5-cos(2m-x), X~ UJ0,1].
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Beta PDF: BetaPDF(x, «,f)

N w P~

N (¢} w (é)] N (¢
|
|
|

-
(6)]

—

0.5

The Beta Probability Density Function

0.2 04 0.6 0.8 1
x of BetaPDF(x  o,fB), =5

mo‘_l(l—x)ﬁ_l .

B(a,8) 7

BetaPDF(x,a, 3) =

97



Yitzhaki’'s Weights

5 T T
= == = dg(x)dx b=05,c =0
45 —\(X); B =1, GX‘\/Gi =05
4+ - - e y(X); =2 GX‘\/Gi =05
a5 —(X); B =5, cX’¢o§ =05
V) ) 2
/ \ - e = y(X); =10, GX’\/GX =0.5

Yitzhaki’s Weights for X ~BetaPDF(z,«a, 3)

X, g(¥ = bx+c*x 2 X~BetaPDF(x o, p); o =5

E(Y]X =z) = g(z) = LD = [ ¢/ (tw(t)da

Var(X) —00

w(t) = #(X)E (XX >1t)-Pr(X >t

a—1(1_\8—
X ~BetaPDF(z,a,3) = = ;((104 g)) 1; a = b;

. g(x)=0.5-%x
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Yitzhaki’'s Weights

Yitzhaki’s Weights for X ~BetaPDF(z,«a, 3)

° - -dfg(x)]/dx b=05, c =05
45t —Ww(X; B=1, o, Joi =1.2556
4l -——wX; B=2 GX,\/Gi =11675 -
a5l . —_—(X); B =5, GX’\/G§(2=1.0004 |
p) \ - e = \W(X); =10, GX’\/GX =0.8532

x,g() =bx+cx 2 X~BetaPDF(x o, B); . =5

E(Y|X =2)=g(z) = T = [%0, g/ (Dw(t)da

w(t) = #(X)E (X|X >t)-Pr(X >t

a—1(1_\B—
X ~BetaPDF(z,a,3) = = ;((104 g)) 1; a = 5;

g(x) =0.5-x+0.5-x°.
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Yitzhaki’'s Weights

Yitzhaki’s Weights for X ~BetaPDF(z,«a, 3)

° -—- d[g‘(x)]/dx; b=0,c =<5.5
45 - —(¥); =1, GX’\/Gi -075259 ]
4l - =wx; =2 cx,\/ci -066703 |
55 | —(X); B =5, oxyci =050015 |

;N == =ww; B=10 0y /02 =0.35302

X, g(¥ = bx+c*x 2 X~BetaPDF(x o, p); o =5

E(Y]X =z) = g(z) = LD = [ ¢/ (tw(t)da

Var(X) —00
w(t) = #(X)E (X|X >t)-Pr(X >t
X ~BetaPDF(x,a, 3) = xa_;(la_g))ﬁ_l; a = b;
g(x) = 0.5 - x°.
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Yitzhaki’s Weights for X ~BetaPDF(z,«a, 3)

Yitzhaki’'s Weights
N
o

—
(6]
T

—
T

05

w
T

N
T

‘l - -dfg(x)]/dx; b=0,c;0.5

“ —_—X); B =, GX’\/G)Z( =0.73774
‘\ = = =w(¥; =2 o, /0% =0.80701
\ —_—(Y); B =5, ox,\/oi =1.1052

\
\ ,"‘\ - - =wX); B=10, GX’\/Gi =1.6054

X, g(x) b*x+ c* Iog(x) X~ BetaPDF(x, a, B);(.x=5

E(Y|X =) = g(z) = Faiad = [, ¢ Hw(t)dz

w(t) =y B (XX > 1) - Pr(X > 1)

ot B
X ~BetaPDF(z,a, ) = 1((1 m)) 1, a=5;

g(x) =0.5-x+ 0.5 - log(X)
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Yitzhaki’'s Weights

Yitzhaki’s Weights for X ~BetaPDF(z,«a, 3)

‘ T T
\ = = =dg(X)dx b=05,c =05
45 \‘ —_—(y); =1, Gx,\/ci —1.2408
4l \‘ = = =w¥; B=2, o, Jok =13075
. _ 2 _
a5 \\ — —\(X); =5, GX,\/GX2_1.6055
. \\ ’, \\ == =wx; p=10, o, /o, =21055
)
25
2 L
15 F
1 [}
)
)
05 | /
’
0 | |
0 02 04 0.6

X, é(x) =b*x+ c*log (X, X ~ BetaPDF.(x, o, B); (;)c =5

E(Y|X =2) = g(v) = Fozy’ = [2o o (Du(t)da

w(t) =y B (XX > 1) - Pr(X > 1)

:L’O‘_l(l—m)ﬁ_l
B(a,B)

g(x) = 0.5 -log(X)

X ~BetaPDF (x,a, ) =

;=0
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Yitzhaki’s Weights

E

Yitzhaki’s Weights for X ~BetaPDF(z,«a, 3)

- = =dg(¥Vdx b=05,c =05
——wx; B=1, o, /o5 =25864

- = =wY; B=2 o, Joy =2.2988
—(X); B =5, ox’yoi =0.49969
= = =w(¥; B=10, o, Joy =14726

X,9(X) =b'x+c*x 2, X~BetaPDF(x  a, B); o.=5

(YIX =12) = g(x) = Fa = [ g (Hw(t)da

w(t) = #(X)E (X|X >t)-Pr(X >t

a—1(1_\B—
X ~BetaPDF(z,a,3) = = ;((104 g)) 1; a = 9;

g(x) =0.5-x+ 0.5 - cos(27 - x).

103



Yitzhaki’'s Weights

Yitzhaki’s Weights for X ~BetaPDF (x, a, 3)

- = =dg(YVdx b=0,c=05
——wx; =1, o, Jo% =20834

= = =w; B=2 o, /oy =1.7%3
—_— (%) P =5, GX,Y/Gi =-0.00056109

. —_ 2 —_——
= = =wY; B=10, o, /o5 =-19727

0 0.2 0.4 06 0.8 1
X,9(9 =bx+c"x 2 X~BetaPDF(x o, B); 0=

(YIX =) = g(2) = Fozy) = [2o 0 (Dw(t)da

w(t) = #(X)E(X]X >t)-Pr(X >t)

aca_l(l—a:)ﬁ_l
X ~BetaPDF(z,a,8) = —pgG5— ®=5;

g(x) = 0.5 - cos(27 - x).
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